run_13052048 FGT_ADC 1,Timebin=2,Disc=1,asmb=1DA
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run_13052048 FGT_RMS 1, Timebin=2,Disc=2,asmb=2DA
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run_13052048 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
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run_13052048 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
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run_13052048 FGT_ADC_1,Timebin=2,Disc=2,asmb=2AB
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run_13052048 FGT_MPV_1,Timebin=2,Disc=2,asmb=2AB
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run_13052048 FGT_RMS 1, Timebin=2,Disc=2,asmb=2AB
Tue Feb 21 17:17:30 2012
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run_13052048 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA
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run_13052048 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
Tue Feb 21 17:16:57 2012
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run_13052048 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
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run_13052048 FGT_ADC 1,Timebin=2,Disc=3,asmb=3DA

Tue Feb 21 17:13:39 2012
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run_13052048 FGT_MPV_1,Timebin=2,Disc=3,asmb=3DA
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run_13052048 FGT_RMS 1, Timebin=2,Disc=3,asmb=3DA
Tue Feb 21 17:17:32 2012
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run_13052048 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 21 17:13:47 2012
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run_13052048 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
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run_13052048 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Tue Feb 21 17:17:33 2012
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run_13052048 FGT_ADC_1,Timebin=2,Disc=3,asmb=3AB
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run_13052048 FGT_MPV_1,Timebin=2,Disc=3,asmb=3AB
Tue Feb 21 17:16:59 2012
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run_13052048 FGT_RMS 1, Timebin=2,Disc=3,asmb=3AB
Tue Feb 21 17:17:33 2012

[ADC RMS for RDO=1,ARM=2,APV=17 _}

RMS (ADC-ped)

180

ICEEERN)

160

140

1333

120

EEEEN]

100

13330

80

60

40

20

] =CEEERIIJO0CEEEN]

0

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=18 '}

RMS (ADC-ped)

60

APV channel

[ ADC RMS for RDO=1,ARM=2,APV=19 |

RMS (ADC-ped)

70

60

50

40

30

20

10

0

S =COCEERNIII000CEEERNIIJIOCCCEENNIIA

APV channel

[ADC RMS for RDO=1,ARM=2,APV=20 _}

RMS (ADC-ped)

70

60 |

50

40 |

30

20

10

i
® 120
APV channel

[ ADC RMS for RDO=1,ARM=2,APV=21 "}

RMS (ADC-ped)

100 f7

80 -

60 fr
40 p

20 |-

APV channel




run_13052048 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 21 17:13:57 2012
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run_13052048 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA

Tue Feb 21 17:17:00 2012
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run_13052048 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Feb 21 17:17:34 2012
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run_13052048 FGT_ADC 1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 21 17:13:58 2012
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run_13052048 FGT_MPV_1,Timebin=2,Disc=4,asmb=4DA
Tue Feb 21 17:17:00 2012
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run_13052048 FGT_RMS 1, Timebin=2,Disc=4,asmb=4DA
Tue Feb 21 17:17:34 2012
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run_13052048 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 21 17:14:06 2012
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run_13052048 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 21 17:17.02 2012
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run_13052048 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Feb 21 17:17:35 2012
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run_13052048 FGT_ADC_1,Timebin=2,Disc=4,asmb=4AB
Tue Feb 21 17:14:16 2012

[ ADC for FGT RDO=1 ARM=3,APV=17 | [ ADC for FGT RDO=1,ARM=3,APV=17 |
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run_13052048 FGT_MPV_1,Timebin=2,Disc=4,asmb=4AB

Tue Feb 21 17:17:03 2012
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run_13052048 FGT_RMS 1, Timebin=2,Disc=4,asmb=4AB
Tue Feb 21 17:17:37 2012
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run_13052048 FGT_ADC 1,Timebin=2,Disc=5,asmb=5DA
Tue Feb 21 17:14:18 2012
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run_13052048 FGT_MPV_1,Timebin=2,Disc=5,asmb=5DA
Tue Feb 21 17:17.03 2012
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run_13052048 FGT_RMS 1, Timebin=2,Disc=5,asmb=5DA
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run_13052048 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
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run_13052048 FGT_ADC_1,Timebin=2,Disc=5,asmb=5AB
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run_13052048 FGT_RMS 1, Timebin=2,Disc=5,asmb=5AB
Tue Feb 21 17:17:40 2012
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run_13052048 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC
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run_13052048 FGT_MPV_1,Timebin=2,Disc=1,asmb=1BC
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run_13052048 FGT_RMS 1,Timebin=2,Disc=1,asmb=1BC
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run_13052048 FGT_ADC _1,Timebin=2,Disc=1,asmb=1BC

Tue Feb 21 17:14:56 2012
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run_13052048 FGT_MPV_1,Timebin=2,Disc=5,asmb=5CD

Tue Feb 21 17:17:23 2012
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run_13052048 FGT_RMS 1, Timebin=2,Disc=5,asmb=5CD
Tue Feb 21 17:17:56 2012
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